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Unbaffled condition o iy
= {[1.274]/[8d%/(D?H)]} ' H/D=10 H/D=1.0
f = C/Reg + C{[(Cy/Reg) + Reg]™* + (f./CYYm}™ I
Re, = nd2p/u, Reg = {[znIn(D/d)]/(4d/BD)}Re, i < R
C_=0.2157n,(d/H)[ 1-(d/D)?]+1.83(b/H)(n /2)1 | 60s 120s
C=[(1.1X 25)-78+(0.25)7:8]-1/7:8 !
m = [(0.71X0-373)-7:8 + (0.333)-78]-1/7:8 i
C, = 3000(d/D)-324(h/D)L-18X-0.74 I -
f.,=0.0151(d/D) C3% R T AR AR
X = m,"b/H i %ﬂ%@f_ gy H/D=1.3
£=2In(D/d)/[(D/d)-(d/D)] I
= [#In(D/d)/(/DId)s] i _ .
n= 0711{0.157 + [n, In(D/d)]*S1}/{ n0%[1- - -
(d/D)Z]} i 505 L 65 205
Baffled condition :
= [(1+%®) 3 INppmax | Re=100 Re=100
X = 3.0(By/D)Ng"/Nppax* + Npo/Npmax | FREEHROMK TREEHR 44K
Fully baffled condition | H/D=1.0 H/D=1.0
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